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(1-15 MCQs x 2 Marks = 30 Marks) 
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1.GNP at MP = ______ 
(A) GDPMP – Depreciation 
(B) GDPMP + Depreciation 
(C) GDPMP ÷ Depreciation 
(D) GDPMP + Net factor income from abroad 
 



 

 

 
 
2.NNPFC = 
(A) GNPFC – Depreciation 
(B) NNPMP + Economic subsidy – Indirect taxes 
(C) NDPMP + Net factor income from abroad 
(D) All of these 
 
 



 

 

 
 
3.Why are the intermediate goods not included in the 
National Income while measuring National Income? 
(A) To avoid double accounting 
(B) It decreases income 
(C) Intermediate goods are not good 
(D) All of these 
 



 

 

 
4.Which of the following items are excluded from GNP 
measurement? 
(A) Purely financial transactions 
(B) Transfer of used goods and non-market goods and 
services 
(C) Illegal activities and the value of leisure 
(D) All of these 
 



 

 

 
 
5.Net National Income at Factor Cost is called? 
(a) National Income 
(b) Gross Investment 
(c) Domestic Income 
(d) None of these 
 



 

 

 
 
6.Which one is included in National Income? 
(a) Rent, Wage, Interest 
(b) Rent, Wage, Salary 
(c) Rent, Profit, Interest 
(d) Rent, Wage, Salary, Interest, Profit 
 

 



 

 

. 
 
7.Which of the following is correct? 
(a) Disposable Income = Personal Income – Direct Taxes 
(b) Disposable Income = Private Income – Direct Taxes 
(c) Disposable Income = Personal Income – Indirect Taxes 
(d) Disposable Income = Private Income – Indirect Taxes 
 



 

 

 
 
8.If for a country net factor income from abroad is 
negative then: 
(a) GDP < GNP 
(b) GDP > GNP 
(c) GDP ≥ GNP 
(d) GDP = GNP 



 

 

. 
 
9.The market value of all final goods and services 
produced in an economy over a year is called : 
(a) Gross National Product 
(b) National Income 
(c) Gross Domestic Product 
(d) Net National Product 
 



 

 

 
 

 
10.Total national income divided by total population is 
known as: 
(a) Private income 
(b) Personal income 
(c) Personal spendable income 
(d) Per capita income. 



 

 

 
 
11.Which bank was baptised as the State Bank of 
India? 
 
a) New Bank of India 
b) Imperial Bank of India 
c) Indian Bank 
d) United Bank of India 



 

 

 
 
12.Which bank was united with the Punjab National 
Bank in 1993? 
 
a) Oudh Commercial Bank 
b) Imperial Bank of India 
c) New Bank of India 
d) Punjab and Sind Bank 



 

 

 
 
13.Which among the following is not a public sector 
bank? 
 
a) Allahabad Bank 
b) City Union Bank 
c) UCO Bank 
d) Vijaya Bank 



 

 

 
 
14) The ______________ is the market price where the 
quantity of goods supplied is equal to the quantity of 
goods demanded 
 A) Nominal Price  
B) Equilibrium Price  
C) Attractive Price  
D) Exact Price  



 

 

15) The Government of India in the backdrop of major 
failures of non-banking financial companies, 
phenomenon of vanishing companies, plantation 
companies and stock market scams decided to set up 
which of the following?  
A) Indian Institute of Corporate Affairs  
B) Serious Fraud Investigation Office  
C) Competition Commission of India  
D) Central Statistics Office 



 

 

16) The formula to calculate Personal Income is: 
A) National Income – Undistributed Corporate Profits – Profit Taxes – 
Social Security Contribution + Transfer Payments + Interest on Public 
Debt  
B) National Income – Undistributed Corporate Profits + Profit Taxes – 
Social Security Contribution – Interest on Public Debt  
C) National Income + Undistributed Corporate Profits + Profit Taxes + 
Social Security Contribution 
 D) National Income – Undistributed Corporate Profits + Profit Taxes – 
Social Security Contribution – Transfer Payments  

 



 

 

 
17) The production value of transport and 
communication is taken into consideration for 
computation of National Income under which of the 
following methods?  
A) Income Method  
B) Expenditure Method  
C) Product Method  
D) Profit Method  



 

 

 
18) ____________ if any, must be deducted from the 
value added while calculating national income as per 
the Product Method, as it does not result into real 
increase in output.  
 
A) Stock Depreciation 
 B) Stock Loss due to theft  
C) Stock Appreciation  
D) Stock Insured 



 

 

 
19) The formula to compute Net National Product at 
Factor Cost is:  
 
A) NNP at Market Prices – Indirect Taxes + Subsidies  
B) NNP at Market Prices + Indirect Taxex + Subsidies  
C) NNP at Market Prices – Subsidies  
D) NNP at Market Prices – Indirect Taxes – Subsidies  
 



 

 

20) While adding up the value of output of various 
sectors for calculation of National Income under 
Product Method, care should be exercised to avoid the 
problem of ____________  
 
A) Single Counting  
B) Double Counting  
C) Triple Counting  
D) Quadruple Counting 



 

 

 
21) A commodity with ______________ has an infinite 
elasticity. 
 
 A) Relatively Less Elastic Supply  
B) Unitary Elastic Supply 
 C) Relatively Greater Elastic Supply  
D) Perfectly Elastic Supply  
 



 

 

 
22) The long form of SUUTI is: 
 
 A) Special Undertakings of the Unit Trust of India  
B) Specified Undertakings of the Union Trust of India 
 C) Specified Undertakings of the Unit Trust of India  
D) Special Undertakings of Unit Turnover of India  
 
 



 

 

 
23) The demand for very costly and cheap goods is 
generally_____________ 
 A) Relatively Elastic  
B) Inelastic  
C) Unitary Elastic  
D) Perfectly Elastic  
 
 



 

 

 
24.Demand curve is said to be ___ and has the property 
that when price increases or decreases, the total 
revenue remains constant. 
(A) perfectly elastic 
(B) perfectly inelastic 
(C) unitary elastic 
(D) none of the above 
  



 

 

 
25.The elasticity coefficient for unitary demand curves 
is equal to 
(A) zero 
(B) one 
(C) infinity 
(D) none of the above 
  
 



 

 

 
26.Demand curves which have an elasticity coefficient 
__ are called relatively inelastic or simply inelastic. 
(A) 0 
(B) 1 
(C) between 0 and 1 
(D) infinity 
  
 



 

 

 
27.The elasticity coefficient for a relatively elastic or 
simply elastic demand curve, is 
(A) 0 
(B) 1 
(C) between 0 and 1 
(D) between 1 and infinity 
  
 



 

 

  
 
 
28-Elasticity can be measured by 
(A) Geometrical Method 
(B) Arithmetical Method 
(C) Both (A) and (B) 
(D) None of the above 
  



 

 

 
 
 
29-Luxury goods tend to have an 
(A) elastic demand 
(B) inelastic demand 
(C) unitary demand 
(D) none of the above 
  



 

 

 
 
30- Necessity goods tend to have an 
(A) elastic demand 
(B) inelastic demand 
(C) unitary demand 
(D) none of the above 
  
 



 

 

 
31- The cross elasticity of demand is a numerical 
measure of the degree to which quantity demanded of a 
good responds to changes in the ___, the other 
determinants of demand being kept constant. 
(A) prices of other commodities 
(B) income 
(C) price 
(D) none of the above 



 

 

  
32. An understanding of elasticity is fundamental in 
understanding the ___ in a market. 
(A) response of supply 
(B) demand 
(C) both (A) and (B) 
(D) none of the above 
  
 



 

 

 
 
33. The arc elasticity is a measure of 
(A) minimum elasticity 
(B) maximum elasticity 
(C) average elasticity 
(D) all of the above 
  
 



 

 

 
 
34.Which of the following was the first ‘non-UTI 
mutual fund established in June 1987? 
 A) HDFC Mutual Fund  
B) SBI Mutual Fund 
 C) ICICI Mutual Fund 
 D) PNB Mutual Fund   
 



 

 

 
 
35) The long form of CCEA is: 
 A) Core Commission on External Affairs 
 B) Cabinet Committee on Economic Affairs  
C) Core Committee on Economic Affairs  
D) Cabinet Commission on External Affairs 
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1.Who was the first woman President of the U.N. General 
Assembly? 
(a) Sarojini Naidu 
(b) Aruna Asaf Ali 
(c) Vijay Lakshmi Pandit 
(d) Raj Kumari Amrit Kaur 



 

 

 

Question 2 
Which one of the following is not a permanent member of 
the U.N. Security Council? 
(a) Russia 
(b) India 
(c) China 
(d) France 



 

 

 

3.Which country has recently launched the world’s first 
6G communication satellite? 
[A]India 
[B]USA 
[C]Russia 
[D] China 
 



 

 

 

4. Where is the headquarters of UN Environment 
Programme – World Conservation Monitoring Centre 
located? 

[A]Geneva 
[B]Washington 
[C]Cambridge 
[D] Hague 



 

 

 
 

5. Which country hosted the Leaders’ summit of Asia-
Pacific Economic Cooperation (APEC) 2020? 

[A]India 
[B]Malaysia 
[C]China 
[D] Sri Lanka 



 

 

 
 
 

6. Which country rolled out the first vaccine in the world? 

[A]UnitedStates 
[B]NewZealand 
[C]UnitedKingdom 
[D] Germany 



 

 

 
 

7. What is the name of the Moon-landing Mission of the 
NASA, for which it has chosen the first-ever woman? 

[A]Persistence 
[B]Discovery 
[C]Artemis 
[D] Hope 



 

 

 
 

8. Which space agency has recently launched a new batch 
of 60 Starlink internet satellites into orbit? 

[A]NASA 
[B]JAXA 
[C]SpaceX 
[D] Blue Origin 



 

 

 
 

9. KP Sharma Oli, has been reappointed as the Prime 
Minister of which country? 

[A]Bangladesh 
[B]Myanmar 
[C]Nepal 
[D] Bhutan 



 

 

 
10. Chief Scientist of World Health Organization has 
urged the nations to prioritize reopening of schools amid 
the Covid-19 pandemic. Who is the current Chief Scientist 
of World Health Organization? 

[A]GagandeepKang 
[B]MariaVanKerkhove 
[C]DrSoumyaSwaminathan 
[D] Norman Borlaug 
 



 

 

 

11. Where is the headquarters of the G-24 inter-
governmental association located? 

[A]WashingtonD.C 
[B]Geneva 
[C]Paris 
[D] Rome 
 



 

 

 

12. Which Listed Large Company won the ICSI National 
Award for Excellence in Corporate Governance? 

[A]PFC 
[B]ITC 
[C]NTPC 
[D] ONGC 
 



 

 

 

13. What is the name of Taylor Swift’s music album that 
has won the Grammys Album of the Year Award? 

[A]Folklore 
[B]YouKnowIt 
[C]IhadEverything 
[D] Everything I Wanted 
 



 

 

 

14. Which Indian film won the ‘Best Feature Film’ award 
in the 67th National Film Awards? 

[A]Asuran 
[B]Marakkar 
[C]Jersey 
[D] Biriyani 
 



 

 

 
 
15. who won the National Award for best female actor for 
the year 2020 
A. Kangna Ranaut 
B. Seema Biswas 
C. Neena Gupta 
D. Alia Bhatt 
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1. Communication helps officials to ___ the employees. 
A. Eliminate 
B. motivate 
C. Threaten 
D. apprise 

 



 

 

 
 

2. ___ means checking whether the earlier stages of 
reading were followed promptly or not. 
A. Survey 
B. Question 
C. Read 
D. Review 



 

 

 
 

3. The document that is used to communicate within the 
organization is called ___. 
A. letter 
B. memo 
C. e-mail 
D. telex 

4.  



 

 

 

 
4. Identify the adverb in the sentence, ‘I work more on 
the product development side.’ 
A. I 
B. work 
C. More 
D. the 
 



 

 

 

5. While listening, when we assess what the speaker is 
speaking, it is ___. 
A. comprehensive listening 
B. dialogic listening 
C. systematic listening 
D. critical listening 

 



 

 

 

 

6. Identify the polite method of beginning a business letter 
A. We are forced to refuse 
B. We demand to know from you 
C. We find it difficult to believe 
D. We appreciate your prompt reply 
 



 

 

 

7. Pick the pronoun from the sentence; ‘She was quite 
good looking’ 
A. She 
B. Was 
C. Quite 
D. Good looking 
 



 

 

 

8. The subject in the job application is written ___ 
A. before the salutation 
B. after the salutation 
C. before the complimentary close 
D. after the complimentary close 
 

 



 

 

 

9. ___ should be provided in a resume only on request 
A. Telephone number 
B. Reference 
C. Educational qualification 
D. Work experience 
 

 



 

 

 

10. ___ is a document that can be used as an evident in 
legal cases. 
A. Notice 
B. Minutes of a meeting 
C. Agenda 
D. Memo 
 



 

 

 

11. ___ is a document that can be used as an evident in 
legal cases. 
A. Notice 
B. Minutes of a meeting 
C. Agenda 
D. Memo 
 



 

 

 

12. Identify the type of sentence: The boy climbed up to 
the top of the tower. 
A. Simple 
B. Compound 
C. Complex 
D. Superlative 
 



 

 

 

13. Rain has ___ right through the coat. If you can’t ___ 
your dog from biting the milkman, you must lock him up. 
a. Penetrated, restrain 
b. Ex asperation, kernal 
c. Cut, amazement 
d. None of the above 



 

 

 
 

14. Important kinds of workers are – 
a. Growers, diggers 
b. Makers, movers 
c. Both a & b 
d. All of the above 
 



 

 

 

15. David living stone worked as a ___ in a cotton mill 
when he was only ten years old. He did not receive any 
formal education and was his own ___. 
a. Doctor, labourer 
b. Labourer, teacher 
c. Explorer, labourer 
d. Teacher, doctor 



 

 

 
16. ___ involves processing and reconstructing the data, 
but ___ is letting the sounds beat your eardrums. 
a. Listening, hearing 
b. Hearing, listening 
c. Casual listening, focused listening 
d. None of the above 

 



 

 

 

17. The ___ and ___ is also helpful for the listener to 
understand the meaning. 
a. Tone, behavior 
b. Pitch, tone 
c. Tone, attitude 
d. Tone, intensity 



 

 

 
18. Using lecturers, handouts we acquire information from 
___ and by using tutorials, conversations etc. we acquire 
information through ___. 
a. Tutors, fellow learners 
b. Other sources, tutors 
c. Students, tutors 
d. None of the above 
 



 

 

 

19. Identify the advantages of writing – 
a. The speaker himself did not have to be present in order 
to communicate 
b. The knowledge of one generation could be accumulated 
and passed on to the next 
c. Both a & b 
d. We can represent, what we want 
 



 

 

 

20. The general categories of communications are – 
a. Speech, writing 
b. Printing 
c. Electronic communication 
d. All of the above 
 

 



 

 

 

21. ___ means no external, unnecessary details have to be 
included, while ___ means all the significant and 
important details should be included. 
a. Accurate, complete 
b. Orderly, clear 
c. Accurate, clear 
d. Clear, complete 
 



 

 

 

22. Common kinds of narrative skills are – 
a. How to do something 
b. How something works 
c. Both a & b 
d. Arrange the information properly 
 

 



 

 

 

23. In English the same “You” is used for addressing ___ 
and ___. 
a. Youngers, elders 
b. Elders, equals 
c. Elders. Olders 
d. None of the above 
 



 

 

 
24. We have to utter the sentences in ___ and pay attention 
to the ___ of the language spoken. 
a. Appropriate manner, fluency 
b. Appropriate context, cultural aspect 
c. Social aspect, appropriate context 
d. All of the above 
 
 



 

 

 
 
 

25. We communicate orally in two ways: ___ and ___ 
a) telephonic conversation; non verbal communication 
b) verbal communication; face-to-face communication 
c) face-to-face communication; telephonic conversation 
d) verbal communication; nonverbal communication 
 



 

 

26. If staff in an organization is suspected of major 
misconduct, the organization may issue a ___ which 
will mention the ___ against the staff concerned and 
ask for a written explanation 
a. notice, information 
b. memo, praise 
c. show cause notice, allegations 
d. letter, punishment 



 

 

 
27. Unclarified assumptions in communication can lead 
to ___ and ___ 
a) premature evaluation, poor listening 
b) information overload, selective perception 
c) lack of planning, physical barriers 
d) confusions, misunderstanding 
 

 



 

 

 

28. A resume needs conceptualization of your ___ and 
___ all into one document. 
a) objectives; experiences 
b) projects; skills 
c) accomplishments; experiences 
d) skills; aims 
 



 

 

29. A press story is ___ news story, written in ___ 
person that seeks to demonstrate to an editor or 
reporter the newsworthiness of a particular person, 
event, service, or product. 
(a) false; first 
(b) pseudo; third 
( c) real; second 
(d) original; third 
 



 

 

 

30. Complete the following sentences 
(1) You can turn off the television. I ___ (watch) it. 
(2) I saw Sarika yesterday. She___ (drive) her new car. 
(a) am watching, was driving 
(b) have watched, drove 
(c) am not watching, was driving 
(d) watch, drive 
 



 

 

 

31. ___ describes all forms of human___ that are not 
verbal 
a) hap tics, conversation 
b) Para language, communication 
c) prosody, connection 
d) gestures, communication 
 



 

 

 

32. ___ refers to different and numerous steps in the 
___. 
a) receiver’s attitude, medium 
b) transmission journey, message 
c) channel, process of communication 
d) semantic distortion, message 
 



 

 

33. In ___ listening, the listener has a purpose of not 
only empathizing with the ___ but also using this deep 
connection in order to help the speaker understand, 
change or develop in some way. 
a) dialogic, leaner 
b) empathetic, reader 
c) appreciate, listener 
d) therapeutic, speaker 
 



 

 

 

34. The most crucial part of the ___ process is thinking 
of converting to ___ what one hears. 
a) reading; understanding 
b) speaking; meaning 
c) hearing; interpreting 
d) listening; meaning 
 



 

 

 

35. As a means of communication, e-mails have 
features of the immediacy of both ___ and ___. 
a. reading, receiving 
b. writing, sending 
c. calling, receiving 
d. receiving, sending 
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                        LEGAL APTITUDE 
 
 
 
 
 
 

(1- 5 MCQs x 2 Marks = 10 Marks)  
(6 -20 MCQs x 1 Mark = 15 Marks) 



 

 

 
 
 

1. The Constitution derives its authority from……………..  

A. Parliament  

B. President of india  

C. People of india  

D. Judiciary  



 

 

2. On which date our constitution came into force?  

A. Nov 26, 1949  

B. Jan 26,1949  

C. Aug 15, 1947  

D. Jan 26, 1950  



 

 

3 Equality before law and equal protection of law is given 
under.........  

A. Article 13  

B. Article 14  

C. Article 15  

D. Article 16  



 

 

4. Article 17 says, .....................is abolished and its 
practice in any form is forbidden.  

A. Discrimination  

B. Untouchability  

C. Unequality  

D. Special preferences  



 

 

5. Free Legal aid to the poor is given under................  

A. Directive Principles of state policy  

B. Fundamental Rights  

C. Fundamental duties  

D. Citizenship  

 



 

 

 

6.can be enforced by writs.  

A. Fundamental duties  

B. Directive Principles of state policy  

C. Fundamental Rights  

D. Legal rights 



 

 

7.denotes Citizenship at the commencement of the 
constitution.  

A. Article 5  

B. Article 15  

C. Article 20  

D. Article 25  



 

 

8. The Electoral college of President consists of ............  

A. elected members of both houses of Parliament  

B. nominated members of Legislative members of state  

C. elected members of state legislative council  

D. all the above  



 

 

9. Allocation of seats in the Rajya Sabha to the states and 
the Union Territories are mentioned in  

A. Fourth schedule  

B. Fifth schedule  

C. Sixth schedule  

D. Seventh schedule  



 

 

10. Maximum strength of the Loksabha fixed by the 
constitution is..........  

A. 545  

B. 552  

C. 245  

D. 250  



 

 

11. The total number of Ministers including the Prime 
Minister in the Council of Ministers shall not 
exceed............  

A. 10%  

B. 15%  

C. 20%  

D. 25%  



 

 

12. Which of the following states does not have a 
Legislative council?  

A. Bihar  

B. Jharkhand  

C. Maharashtra  

D. Uttar Pradesh  



 

 

13. Governor's power to make ordinances is given 
under............  

A. Article 123  

B. Article 213  

C. Article 313  

D. Article 131  



 

 

 

14 . is the highest court of appeal in our country.  

A. Privy Council  

B. Federal court  

C. Supreme court  

D. High court  



 

 

 

15. literally means "to have the body of".  

A. Habeas Corpus  

B. Mandamus  

C. Certiorari 

D. Quo Warranto  



 

 

16. Our Constitution was 1st amended in the year.....  

A. 1947  

B. 1949  

C. 1950  

D. 1951  



 

 

17......................Amendment Act is also known as Mini-
Constitution.  

A. 2nd  

B. 42nd  

C. 86th  

D. 91st  



 

 

18. Parliament consists of.............  

A. President  

B. Lok Sabha  

C. Rajya Sabha  

D. All the above 
 
 



 

 

19.______ IS THE CONCLUSIVE EVIDENCE IN CASE 
OF COMPANY THAT STATUTORY REQUIREMENTS 
HAVE COMPLIED WITH  
A) CERTIFICATE OF INCORPORATION  
B) CERTIFICATE OF COMMENCEMENT OF 
BUSINESS  
C) BOTH  
D) NONE OF THE ABOVE  



 

 

 
 

20. CAN A COMPANY HOLD AN AGM ON PUBLIC 
HOLIDAY?  
A) YES  
B) NO  
C) A) AND B) ARE CORRECT  
D) NONE OF THE ABOVE  
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                     PRESENTATION SKILLS 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -20 MCQs x 1 Mark = 10 Marks) 

 
 



 

 

 

1.To become more effective, you need to take control of :  

a) the material.  

b) the audience.  

c) Yourself .  

d) All of the above .  



 

 

2. Which Of These Is The Most Important Tool Of Communication? 
A) Body Language 
B) Gestures 
C) Language 
D) Posture 
View Answer 
Explanation: Language Is The Most Important Tool Of Communication. 
The Word Communication Is Derived From The Latin Word 
“Communicare”, Which Means To Share. Body Language, Posture And 
Gestures Are Also Important Tools Of Communication; But They Are 
Secondary To Language. 



 

 

 

3.  we get nervous because of hormone :  

a) formalin  

b) albumin  

c) adrenalin  

d) serotonin  



 

 

 
4. Which Of These Must Be Avoided In Any Presentation? 
A) Proper Grammar 
B) Complex Words 
C) Short Sentences 
D) Clear Voice 
View Answer 

Explanation: In any presentation, we should use proper grammar. We 
should use short sentences and simple and proper words. There should be 
used of clear good voice. 



 

 

5. Oral presentations are an integral part of an engineer’s 
career. 
a) True 
b) False 
View Answer 

Explanation: The statement is true. Oral presentations are 
an integral part of an engineer’s career. He has to take part 
in meetings, conferences and seminars. 



 

 

 

6.  adrinalin cause :  

a) stimulate concentration.  

b) Increase body weight .  

c) Stimulate heart .  

d) a + c  



 

 

7. Which of these is not important in an oral presentation? 
a) Words 
b) Body language 
c) Gestures 
d) The number of people as audience 
View Answer 

Explanation: Words are crucial, but they are not the only thing 
which is important. Body language, which includes a person’s 
demeanour, posture and gestures, is important as well. 



 

 

 

8.  a demophobia :  

a) a fear of people .  

b) a fear of speaking.  

c) a fear of death .  

d) a fear of heights .  



 

 

 
9. Which of these is the best way to establish a proper rapport with 
audience? 
a) Pointing a finger 
b) Making eye contact 
c) Waving your hands 
d) Standing erect 
View Answer 
Explanation: The best way to establish a proper rapport with the audience 
is by establishing eye contact. It is vital to look at the audience straight in 
the eye with confidence. 



 

 

 

10.  a laliophobia :  

a) a fear of people .  

b) a fear of speaking.  

c) a fear of death .  

d) a fear of heights .  



 

 

11. In an oral presentation, the speaker should not _____ 
a) panic 
b) pause 
c) make eye contact 
d) inspire 
View Answer 
Explanation: There are times when you may forget your lines. 
There is no need to panic. Panic can result in further errors. The 
idea is to gracefully pick up the loose ends from the script held in 
front of you. 



 

 

 

12.  a katagelophobia :  

a) a fear of speaking.  

b) a fear of death .  

c) a fear of heights .  

d) a fear of ridicule.  



 

 

13. Which of these is a sign of under confidence? 
a) Speaking and naturally shifting your eyes around 
b) Transfixed on one face 
c) Pointing your finger 
d) Using your hands 
View Answer 
Explanation: While speaking, gently and naturally shifting your 
eyes all around so that it appears as if you are interested in all 
those who are present. Please don’t be transfixed on one face. It 
is a sign of under- confidence. 



 

 

 

14.  Which of this is NOT of adrenalin symptoms :  

a) Blurred vision .  

b) Slow pulse .  

c) Sweaty palms .  

d) Dilated pupils .  



 

 

15. Which of these is the best pace to utter a speech? 

a) 50 words per minute 

b) 150 words per minute 

c) 200 words per minute 

d) 250 words per minute 

 
 



 

 

 
 

16.Understanding __________different parts of speech 
forms the base of leaning grammar 
(A) Five  
(B) Eight  
(C) Six  
(D) Seven 
 



 

 

 
 

17.It is of paramount importance that one need to 
construct a __________sentence in the day to day affairs 
(A) Wrong  
(B) Correct  
(C) Incorrect 
 (D) Night 
 



 

 

 
 
18.A__________may be defined as the name of a person 
place or thing 
(A) Verb  
(B) Noun  
(C) Pronoun  
(D) Adverb 



 

 

 
 

19.According to hoben “communication is the _____ 
exchange of thought or idea. 
(A) Visual  
(B) Audio  
(C) Verbal 
 (D) Written 
 



 

 

 
 
20.The person who transmits the message is called the 
____ 
(A) Sender  
(B) Gives  
(C) Taker  
(D) Receiver 



 

 

 

         NKJ CSEET MARATHON TEST SERIES -9 

                     LOGICAL REASONING 
(1-10 MCQs x 2 Marks = 20 Marks)  

(11 -15 MCQs x 1 Mark = 05 Marks) 

 
 



 

 

 
 

1. If in a certain code, BEAUTIFUL is coded as 
573041208, BUTTER as 504479, how is FUTURE 
coded in that code? 

(a) 201497 
(b) 204097 
(c) 704092 
(d) 204079. 



 

 

 
2. In a certain code, 5 is coded as Z, 7 as E, 2 as S, 9 as 
T, and 4 as W. How is 977452 coded in that code 

(a) SEEWZT 
(b) TEEWZS 
(c) ZEEWST 
(d) WEEZST. 

 



 

 

 
3. In a certain language, if A is coded as 1, B is coded as 
2, and so on, how is STAR coded in that language? 

(a) 1810291 
(b) 9120118 
(c) 1920118 
(d) 1920811. 



 

 

4. In a certain code, if SCHOOL is coded as 123445, 
TEAM as 6078, how is HOTEL coded in that code? 

(a) 34605 
(b) 43605 
(c) 60734 
(d) 34785. 
 



 

 

5. In a certain code, if BOX is coded as 213, BITTER as 
207749, how is BOXER coded in that 
code? 

(a) 21359 
(b) 23159 
(c) 23149 
(d) 21349. 



 

 

6. If ROSE is coded as 6821, CHAIR is coded as 73456 
and PREACH is coded as 961473, what will be the code 
for SEARCH? 

(a) 246173 
(b) 214673 
(c) 214763 
(d) 216473. 



 

 

7. In a certain code language, QUEUE is written as Q 
22, and CHURCH is written as 1UR 1. 
Which of the following would be most appropriate 
code for BANANA in that language? 

(a) B5A5 
(b) 5N5A 
(c) B55A 
(d) BA5A5A. 



 

 

 
8. If PERFECT is coded as “116” then how will 
COMPACT be written in that code? 

(a) 85 
(b) 111 
(c) 98 
(d) 118. 

 



 

 

 
9. If ACNE is coded as 3, 7, 29, 11, then BOIL will be 
coded as 

(a) 5, 31, 21, 25 
(b) 5, 31, 19, 25 
(c) 5, 29, 19, 25 
(d) 5, 29, 19, 27. 

 



 

 

 
10. If FLARE is coded as 21, 15, 26, 9, 22, how will 
BREIF be coded in the same language? 

(a) 25, 9, 22, 21, 18 
(b) 5, 37, 11, 19, 13 
(c) 13, 19, 11, 37, 5 
(d) 25, 9, 22, 18, 21. 

 
 



 

 

11. Arrange the words given below in a meaningful 
sequence from Higher Court to Subordinate Court  
1. District Court 2. High Court 3. Judicial Magistrate - 1st 
Class 4. Supreme Court 5. Judicial Magistrate – 2nd Class  
a. 4, 2, 1, 3, 5  
b. 1, 2, 3, 4, 5  
c. 2, 3, 1, 5, 4  
d. 2, 1, 3, 5, 4  



 

 

 
12. Arrange the words given below in a meaningful sequence.  
1) Seed  
2) Fruits  
3) Tree  
4) Plant  
a. 1, 2, 3, 4  
b. 1, 4, 3, 2  
c. 2, 3, 4, 1  
d. 2, 3, 1, 4  



 

 

 
13. A man said to a lady, "Your son is the nephew of my 
only brother". What is the lady to the man. 
a. Grand father  
b. Mother  
c. Wife  
d. Maternal aunt  
 



 

 

 
 
14. If in a certain language, SANJAY is coded as 
TBOKBZ, how is ROGER coded in that code?  
a. SPHFS  
b. SPTDR  
c. SHTSS  
d. JKLPO  



 

 

 
 
15. AB, EF, IJ, MN __________. What is next in the 
series?  
a. AT  
b. AC  
c. GK  
d. QR 



 

 

                               ECONOMICS  
             AND BUSSINESS ENVIRONMENT 
 

1 D 2 D 3 A 4 D 5 A 
6 D 7 A 8 B 9 C 10 D 
11 B 12 A 13 B 14 B 15 B 
16 A 17 C 18 C 19 A 20 C 
21 D 22 C 23 B 24 C 25 B 



 

 

26 C 27 D 28 C 29 A 30 B 
31 A 32 C 33 B 34 B 35 B 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

                                      CURRENT AFFAIRS 
 

1 C 2 B 3 C 4 C 5 B 

6 C 7 C 8 C 9 C 10 C 

11 A 12 B 13 A 14 B 15 A 
 
 
 
 
 



 

 

 
 

                  BUSSINESS.COMMUNICATION  
 

1 B 2 D 3 B 4 A 5 D 

6 D 7 A 8 B 9 B 10 A 

11 A 12 A 13 A 14 C&D 
BOTH

15 B 



 

 

16 A 17 B 18 A 19 C 20 D 

21 A 22 C 23 B 24 B 25 C 

26 C 27 D 28 C 29 B 30 C 
31 D 32 D 33 D 34 D 35 D 
 
 
 
 
 
 



 

 

 
 

                                       LEGAL APTITUD 
 

1 C 2 D 3 B 4 B 5 A 

6 C 7 A 8 A 9 A 10 B 

11 B 12 B 13 B 14 C 15 A 

16 D 17 B 18 D 19 A 20 B 



 

 

 
 

                                   PRESENTATION SKILLS 
 

1 D 2 C 3 C 4 B 5 A 

6 D 7 D 8 A 9 B 10 B 

11 A 12 D 13 B 14 B 15 B 

16 B 17 B 18 B 19 C 20 A 



 

 

 
 

                        LOGICAL REASONING 
 

1 B 2 B 3 C 4 A 5 D 

6 B 7 C 8 D 9 B 10 D 

11 A 12 B 13 C 14 A 15 D 
 

 
 



 

 

 
 

Thank you  
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